

KANSAS CORPORATION COMMISSION OIL & GAS CONSERVATION DIVISION

Form ACO-1 October 2008 Form Must Be Typed

WELL COMPLETION FORM WELL HISTORY - DESCRIPTION OF WELL & LEASE

OPERATOR: License # 33268	API No. 15 - 193223600000
Name: RL Investment LLC	Spot Description: 1720 FNL & 1520 FEL
Address 1: 217 Saint Peter St	SE_NE_SW_NE_Sec. 23 Twp. 15 S. R. 24 East West
Address 2:	Feet from/ North / South Line of Section
City: Morland State: KS Zip: 67650 +	Feet from East / West Line of Section
Contact Person: Leon Pfeifer	Footages Calculated from Nearest Outside Section Corner:
Phone: (785) 627-5711	☑NE □NW □SE □SW
CONTRACTOR: License #_33575	County: Trego
Name: WW Drilling LLC	Lease Name: Luetters Well #: 1
Wellsite Geologist: Pat Deenihan	Field Name: Wildcat
Purchaser: NCRA	Producing Formation: Miss
Designate Type of Completion:	Elevation: Ground: 2300 Kelly Bushing: 2305
New Well Re-EntryWorkover	Total Depth: 4376 Plug Back Total Depth:
✓ Oil SWD SIOW	Amount of Surface Pipe Set and Cemented at: 218 Feet
Gas ENHR SIGW	Multiple Stage Cementing Collar Used? Yes No
CM (Coal Bed Methane) Temp. Abd.	If yes, show depth set:Feet
Dry Other	If Alternate II completion, cement circulated from:
(Core, WSW, Expl., Cathodic, etc.)	feet depth to:w/sx cmt.
If Workover/Re-entry: Old Well Info as follows:	
Operator:	Drilling Fluid Management Plan AI+ I NOR 10-8-09 (Data must be collected from the Reserve Pit)
Well Name:	
Original Comp. Date: Original Total Depth:	Chloride content: 1650 ppm Fluid volume: 500 bbls
Deepening Re-perf Conv. to Enhr Conv. to SWD Plug Back: Plug Back Total Depth	Dewatering method used: <u>evaporate-backfill</u>
Plug Back Total Deptil	Location of fluid disposal if hauled offsite:
Dual Completion Docket No.:	Operator Name:
Other (SWD or Enhr.?) Docket No.:	Lease Name: License No.:
06-18-08 06-27-08 09-02-08	Quarter Sec TwpS. R East West
Spud Date or Date Reached TD Completion Date or Recompletion Date	County: Docket No.:
Kansas 67202, within 120 days of the spud date, recompletion, workover or c of side two of this form will be held confidential for a period of 12 months if rec	In the Kansas Corporation Commission, 130 S. Market - Room 2078, Wichita, conversion of a well. Rule 82-3-130, 82-3-106 and 82-3-107 apply. Information quested in writing and submitted with the form (see rule 82-3-107 for confidenell report shall be attached with this form. ALL CEMENTING TICKETS MUST orm with all temporarily abandoned wells.
All requirements of the statutes, rules and regulations promulgated to regulate are complete and correct to the best of my knowledge.	the oil and gas industry have been fully complied with and the statements herein
Signature: X Kandall Pfeyfer	KCC Office Use ONLY
Title: Member Date: 09-28-09	Letter of Confidentiality Received
Subscribed and sworn to before me this do day of Septemb	If Denied, Yes Date:
20 09	Wireline Log Received RECEIVED
Notary Public: Mchelle a. Ffuf	UIC Distribution SEP 3 1 2009
	

Date Commission, Expires

NOTARY PUBLIC - State of Kansas

MICHELLE A PFEIFER
My Appt. Exp. 1-13-12

KCC WICHITA

Side Two

User

Operator Name: RL Ir	nvestment LLC		Lease N	Name: L	uetters		Well #:		
Sec. 23 Twp. 15		☐ East 🗹 West	County:	Trego)				
time tool open and clo	sed, flowing and shu es if gas to surface te	d base of formations per t-in pressures, whether s st, along with final chart eport.	shut-in press	sure read	hed static level,	hydrostatic pre	essures, bottom i	nole temp	erature, fluid
Drill Stem Tests Taken (Attach Additional S		✓ Yes No		 ✓Lo	og Formatio	n (Top), Depth	and Datum		Sample
Samples Sent to Geol	•	☐ Yes 🗹 No		Nam Anhy	e		Top 1695		Datum 610
Cores Taken Electric Log Run (Submit Copy)		☐ Yes ☑ No ☑ Yes ☐ No		Heebi Lansii			3651 3689 3970	<u>-</u> ^	1346 1384 1665
List All E. Logs Run: Sonic - Micro- CDL/CNL Ge		CASINIC	PECODO	BKC	w Used		3370		
		Report all strings set-	RECORD conductor, su		_	on, etc.			
Purpose of String	Size Hole Drilled	Size Casing Set (In O.D.)	Weig Lbs. /		Setting Depth	Type of Cement	# Sacks Used		and Percent dditives
surface	12 1/4	8 5/8	20		218	com	165	5% cc-	2% gel
production	7 7/8	5 1/2	15.5		4375	com	165		
		ADDITIONA	L CEMENTIN	NG / SQL	JEEZE RECORD	1			
Purpose: —— Perforate —— Protect Casing	Depth Top Bottom	Type of Cement	#Sacks	Used	sed Type and Percent Additives				
Plug Back TD Plug Off Zone	1721 to surface	60/40 poz	325	,					
Shots Per Foot		ON RECORD - Bridge Plu Footage of Each Interval Pe				cture, Shot, Cem	ent Squeeze Reco Material Used)	rd	Depth
4	4276-4282				500 gal 15	% MCA			
								RE(EIVED
								SEP	3 0 2009
TUBING RECORD:	Size:	Set At: 4310	Packer At	t:	Liner Run:	Yes	No	KCC '	WICHIT
Date of First, Resumed	Production, SWD or En	hr. Producing Me	_	Flowin	g 🔽 Pumpii	ng 🔲 Gas	Lift Oth	ner (Explain,)
Estimated Production Per 24 Hours	Oil 6	Bbls. Gas	Mcf	Wat	er B	bls.	Gas-Oil Ratio		Gravity 36
DISPOSITE	ON OF GAS:		METHOD OF ✓ Perf. [_	mmingled	PRODUCTI	ON INTER	VAL:

Schippers Oilfield Services LLC RR 1 Box 90D Hoxie, KS 67740



Date 6/20/2008 Invoice # 214

Bill To

R.L. Investment, LLC 217 St. Peter ST Morland, KS 67650-5101 Ship To

P.O. # Terms Luetters #1

Net 30

Ship Date

6/18/2008

Due Date

7/18/2008

Other

ltem		Description Qty	Price	Amount
cement	common	165	13.25	2,186.25T
gel		3	17.50	52.50T
chloride	calc	5	52.00	260.00T
handling of m	per sack	168	1.90	319.20
.09 per sx per		76	15.12	1,149.12
pump truck ch	pumping job	1	950.00	950.00
pumputuck mii	one way to location	76	6.50	494.00

RECEIVED
SEP 3 0 2009
KCC WICHITA

TAKE 10% DISCOUNT IF PAID WITHIN 20 DAYS. DEDUCT FROM TOTAL.		Subtotal	\$5,411.07
		Sales Tax (5.8%)	\$144.93
Schinners Official Courts at 1.0		Total	\$5,556.00
Schippers Oilfield Services LLC soslic@ruraltel.net	785-675-8974	Payments/Credits	\$0.00
	785-675-9938	Balance Due	\$5,556.00

REMIT TO RR I BOX 90 D HOXIE KS 67740

SCHIPPERS OIL FIELD SERVICE L.L.C.

Magazine salara pereteri, preservinos virginas

			1		
DATE 1/10/00 SEC. 2.	RANGE/IWP. 15/2%	CALLED OUT	ON LOCATION		JOB FINISH
1 / /	/			COUNTY	STATE
LEASE / w		WELL#			
į ,		1			
					·
CONTRACTOR WW	10	OWNER 8+/			Τ .
TYPE OF JOB					1
HOLE SIZE 12 /4	T.D. 213	CEMENT		1	
CASING SIZE 8 %	DEPTH	AMOUNT ORDERED			
TUBING SIZE 4%	DEPTH	Allivorit		-	+
DRILL PIPE	ДЕРТН		+	 	-
TOOL	DEPTH		+	+	
PRES. MAX	MINIMUM	COMMON	1700	@ / ==	2/863
DISPLACEMENT	SHOE JOINT	POZMIX	17		- 2780 -
CEMENT LEFT IN CSG.	/S-20	GEL	+	@	5.2 52
PERFS	73.2.0			@ /	54
PERFS		CHLORIDE	5	<u> </u>	260-
		ASC		@	
EQUPIMENT				@	
				@	
PUMP TRUCK # \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \				@	
				@ RECEI\	VED
BULK TRUCK					1
# 1 /				SEP 3 0	12009
BULK TRUCK				RCC WIC	ПΙΤΛ
#				 *\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\	dilliv
	/1			@	
	101 11 ·	HANDLNG	188	@ 190	792
	1 11 .	MILEAGE	77	@ /	11/19 1
1	/ / ~ / /	WILLIAGE	7.6	TOTAL	11.7.7
	1 /			TOTAL	
REMARKS		SERVICE		1	1
1 1 N	~ ~	DEPT OF JOB	* *	<u> </u>	
My Do	un @ 2:45		1	@	1000
1. 1	PM	PUMP TRUCK CHARGE	1.	@	2000
1	//1	EXTRA FOOTAGE		@	1
	.A. ,	MILEAGE	716	@ ()	49,000
+ Circ Com	- 1. 1. P.C.	MANIFOLD		@	• .
<u></u>				@	
				TOTAL	
	· · · · · · · · · · · · · · · · · · ·			 .	
CHARGE TO:			1		
· · · · · · · · · · · · · · · · · · ·	STATE				
CITY	ZIP	1			
				, - <u></u>	·
		PLUG & FLOAT EQUIPME	NT		
o: Schippers Oil Field Service LLC		,	1	@	
ou are hereby requested to rent cement	nting equipment	16	!	@	
nd furnish staff to assist owner or contr	. •		1	@	. 179
s is listed. The above work was done to				@	•
upervision of owner agent or contractor	•			1 .	
nderstand the "TERMS AND CONDIT				@ TOTAL 5 47	11 11
n the reverse side.	IONS listed		<u> </u>	TOTAL 297	11 11 1
n the reverse side.	•	TOTAL CHARGE			
		TOTAL CHARGE	-!	 	
. }		DISCOUNT (IF PAID IN 20 DA	(YS)		
•		1	. !	i	!

SIGNATURE KILLY Statt

PRINTED NAME KINGLY STRUCK

Schippers Oilfield Services LLC RR 1 Box 90D Hoxie, KS 67740



Date 6/27/2008 Invoice # 217

Bill To

R.L. Investment, LLC 217 St. Peter ST Morland, KS 67650-5101

P.O. #

Luetters #1

Terms

Net 30

Ship.Date..... 6/27/2008

Due Date

KCC WICHITA

7/27/2008

Other

cement	common		360	13.75	4,950.00T
pozmix		:	130	6.75	877.50T
gel	•		15	17.50	262.50T
Cal-seal			24	30.00	720.00T
mud flush		· .	500	1.00	500.00T
handling of m	per sack		490	1.90	931.00
.09 per sx per			76	44.10 ¹	3,351.60
pump truck ch		- Rays propries	1	1,800.00	1,800.00
pumptruck mil		_1	76	6.50	494.00
head rental	cementing head	\mathcal{A}	1	250.00	250.00
Guide Shoe	9	4 00	1.	179.00	179.00T
Auto Fill inser	•	~O ° O	1 · 1	315.00	315.00T
centralizers			. 8	69.00	552.00T
Basket			2	289.00	578.00T
Latch down pl		X	1	499.00	499.00T
5.5 DV TOOL		. '^ /\'		4,450.00	4,450.00T
		` REC	CEIVED		. 1
1		٥٢٥	3 0 2009		i

TAKE 10% DISCOUNT IF PAID WITHIN 20 DAYS. DEDUCT FROM TOTAL.		Subtotal	\$20,709.60
	:	Sales Tax (5.8%)	\$805.21
		Total	\$21,514.81
Schippers Oilfield Services LLC soslic@ruraltel.net	785-675-8974	Payments/Credits	\$0.00
	785-675-9938	Balance Due	\$21,514.81

3/5:4/3 1003

∠MIT TO RR 1 BOX 90 D

To: Schippers Oil Field Service LLC

Application of the secretarity of the second secretarity

SCHIPPERS OIL FIELD SERVICE L.L.C. 1,023 1 1/1/ **HOXIE KS 67740** JOB FINISH ON LOCATION RANGE/TWP: 15 - 24 12 1/08 SEC. COUNTY STATE WELL# Lucker OWNER CONTRACTOR Commen TYPE OF JOB 4375 1 CEMENT HOLE SIZE AMOUNT ORDERED DEPTH CASING SIZE 165 DEPTH TUBING SIZE DEPTH DRILL PIPE DEPTH TOOL 500 4572 1362 COMMON MINIMUM PRES. MAX 627 POZMIX SHOE JOINT DISPLACEMENT GEL CEMENT LEFT IN CSG. CHLORIDE PERFS ASC EOUPIMENT . Ket - goal **PUMP TRUCK** 500 c) arrived **BULK TRUCK** 11412 BULK TRUCK RECEIVED **到华沙州为城市** HANDLNG 1120 -MILEAGE 194 SERVICE TO THE PERSON The large of the REMARKS DEPT OF JOB 1721.33 PUMP TRUCK CHARGE 715 PM EXTRA FOOTAGE 9145PM MILEAGE 5 9 4 10 30 pm A+ 12:45 Ain MANIFOLD Consider 1.,10 + 2 CHARGE TO: STATE STREET ZIP CITY

PLUG & FLOAT EQUIPMENT

160 10 SHOE

では、人で、自然の機能がある。